DY T8N P
. 2 3w 2”')}{'1 1] :‘}P‘!‘l))
[ R 3 iymp  PYMSR D iy

D 3a—B D26ty
21 557 1B 03 woK) I 4
3x— .8 77D 33 .7.70=1 006 51
cwnY 1av% pyomnwa -y STna)
(Poripa nmnw'r mmvn by vhn
e = a0, 139 0=0
13 6=l ax=B L ]
L wnBn ST NN Pund) B 29D
bna A 41 BKn) 13718 a4 (u'rr
nphwnn HShn ,uv:m) 4% T
27D 16 (85— b vPBIR. DK P55
0P Y ‘Bywn) 4D .17 -S51=D
=3 (Mngn o%Pna 0P 3Py M
1 Givma mikY Tanepnn) 43018 7
1 790 120X 20 4p=D 53 219 8%=D
Hayn) 13023 B 67 321
24 nd (PomnTmaxa B 1::'nppnn5
nEwh - Bvw OPER- 1390 YR 3m)
=710 .25 833 (Mnph Sz Mash pan
-1 27800 201326618 21
129 813 ﬂ”ﬂ% 57) Sn—ild- .28

N3 71—% 51D 30 61— 6D
Vel DR BTPY a0 DX 0R) =B
Yanp AYS. whBY a0 Mty ook

IR 12 YR vIDR DR 9% e
©'33 (6 DYRE) B0 4y .32 (0P
DY T nEnn oY on):
| naand Pron yomR) 1160 (on nopnnd:
3w pan pYon) 11 S 34 g' g
Boisnn: R IXon) -
D7 RY3 I nei n:ma oy muns
8131 - BMPR n‘r:n x;

K

) vsn Y37
+81—3. v;m)
M Een=T1 139 (+z:—-:'m anxm



